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SUMMATIVE ASSESSMENT - I (2017 - 2018)
OBJECTIVE MODEL
SOCIAL STUDIES
(English Medium)
Class : VIII ] (Max. Marks : 80) [ Time : 2.45 Hrs.

[

INSTRUCTIONS :

The question paper is given as Booklet.
All the questions are multiple choice questions.

3. Use blue / Black ink ball point pen to answer all the questions in OMR sheet.

4 Identify the correct answer and bubble relevant circle given against the question
number in OMR sheet.
Ex : If the answeris 3 1o the question bubble as shown @O @ @ @
5. The answer paper will not be valued if ¥/, % symbols are used as answers.
6. The answer paper is not valued for over writing and bubbling more answers than one.
7. Answer all the questions in the given time and handover the OMR sheet to the

invigilator

1. Where will Sun’s rays fall more intensively?

1) Rajasthan
2) Andhra Pradesh

3) Punjab
4) Assom

2. Identify the continent which is located entirely to the south of the Equator.
1) Asia 2) Australia
3) North America 4) Europe

3. Why does the Sun rise in the east?

1) Earth rotates on its axis from the west to the east.
2) Earth rotates on its axis from the east to the west.
3) Earth’s revolution in fixed path around the sun.

4) Moon’s revolution in fixed path around the earth.

4. The region between the tropic of Cancer and the tropic of Capricom is known as ...

1) Frigid zone
2) Warm temperature zone
3) Cold temperate zone
4) Torrid zone
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Which of the following activities is not practised by Eskimos ?
1) Handicrafts
2) Construction of houses
3) Hunting and fishing
4)  Agriculture

The sun rays fall more slanting on the latitude of ....
140"

2) 45°
3) 66%4°
4) 90°

1f the personal hygiene improves, the expenditure on public health services will
1 e
2) increase
3) there is no change
4) there is no relation between hygiene and government expenditure
on public health services.

Tn our state, a Primary health centre covers a population neatly ....
1) 20000
2) 25000
3) 30,000
4) 35,000

Provision of public facilities is mainly the responsibility of ...
1) Govemment

2) People

3) Political leaders.

4) Voluntary organisations

Find out the extremist in the following national leaders.
1) WC Benarji

2) Bala Gangadhat Tilak

3) Dadabai Nauroji

4) Subramaniya Iyer

. Who gave the slogan “Chalo Delhi " ?

1) Mshatma Gandhi
2) Subhash Chandra Bose
3) Jawaharlal Nehru

4) Babu Rajendra Prasad
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12. Amange the following historical incidents chronologically.

A) Constituent assembly approved Indian Constitution.

B) The Constitution of Tndia came into force.

C) India became independent country.

1) AB.C

2 B,AC

3) CAB

4) B,CA

13. The minimum age for citizens to obtain right to votb n Tndia is ...
1) 18 years or above
2) 21 years or above
3) 20 years or above
4) 25 years or ahove

&

‘The main demand of Telangana armed struggle:
1) Abolition of loans

2) Land to tiller

3) Formation of self help groups

4) provision of irrigation facilities

2

As you go up higher from mean sea level, which of the following change occur in
temperature ?

1) Temperature decreases

2) Temperature increases

3) No change in temperature.

4) No relation between height and temperature.

=

. Which of the following statements is correct ?
1) If a place is closer to sea, imespective of its distance from equator,

it will always be cooler:

As you go up higher from the carth, it becomes warmer because

sun is closer to you.

Sun heats the air and then the earth.

4) Global warming is related with Carbon-di-oxide.

&

&

3

Who introduced Permanent Settlement in India in 1793 7
Comwallis

2) William Bentinck

3) Warren Hastings

4) Dalhousic
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18. The trees shed their leaves to reduce the loss of moisture through ...

1) Evaporation
2) Precipitation
3) Condensation
4y Transpiration

5

Observe the below given cases.

A) People’s right over land

B) People’s right over property, income

C) People’s relationships with cach other
Identify the civil cases from the above given cases.
1) ABonly

2) A, Conly

AR =

4) B,Conly

20. What is the reason for formation of day and night 2
1) Revolution of the earth
2) Rotation of the earth
3) Revolution of the moon around the earth
4) Tilt of the carth on its axis

Booklet Code A

21, Here are some of the guiding values of the Constitution and their meaning.
Identify correct match
a) Sovereign . i) Gov. will not favour any religion.
b) Republic . ii) People have the supreme right to make decisions.
) Fraternity - iii) Head of the state is an clected person.
@) Secular - iv) People should live like brothers and sisters.

1) a-ii,b—iii,c-iv,d
2) a-iii,b-iv,c—i,d—
3) a-iv,b—ii,c—iii,d-i
4) a-ib—ii,c-iv, d—iii

8

1) Elevation of a place above the sea level.
2) Latitude that passes through a place.

3) Distance of a place from the sea.

4) Longitude that passes through a place.

E-701/Book-A [4]
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23. Britishers got four districts from Nizam. They were called Ceded.
‘Three of them were Kurnool, Kadapa, Anantapuram. The fourth one was ...
1) Bellary 2) Nellore
3) Mysore 4) Chittoor

24. Maich the following
A) March2l - i) The Sun shines directly over tropic of Cancer.
B) June21 - ii) The Sun shines directly over tropic of Capricorn,
C) December22 - i) The Sun shines ditlvover Equator.
1) A—i,B—ii,C—ii
2) A-ili, B—i,C—ii
3) A-ii, B-iii, C-i
4) A-iii,B-ii,C

25. Match the following
A) Evergreen forests - i) Teak
B) Deciduous forests - i) Regu
C) Thomyforests - iii) Pine
1 A-iii, B—ii,C~i 2) A-ii,B~i,Cii
3) A-ii,B-iii,C~i 4) A-i,B-iii, C—ii

26. Observe the following.
A) Boycott of foreign cloth and their public buring.
B) Boycot of all government institutions like schools and colleges.
©) Picketing of shops selling forcign goods.
Which of the above given methods that the protestors at the time of Swadeshi movement

followed ?

1) A Bonly 2)' A, Conly

3 AB.C 4) B,Conly
27. Observe the following.

A) Republic B) Secular

©) Sovereign D) Monarchy

Which of the above given guiding values of the Constitution and their meanings are there
in Indian Constitution?

1) AB.Conly 2) AB.C.D

3) B,Conly 4) B,C.Donly
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28, Observe the following

A) Dhawaleshwaram bridge

B) Kurnool-Kadapa canal

C) Prakasham barrage

Which of the above given irrigation projects were built in the British period ?

1) A,Bonly

2) A, Conly

3) B,Conly

4) A,B,C

29. Identify correct statement :
A) Day and night are equal through out the world once in a year.
B) In the Polar region, Sun appears 3 months continuously in summer
1) Aonly
2) Bonly
3) AandB only
4) None of the given.

30. Identify correct statement :
A. Earih takes 363 days and 6 hours to complete one revolution.
B. Earth takes 24 hours to complete one rotation.
1) Aonly
2) Bonly
3) AmdB
4) None of the given.

-}

. Identify correct statement :
A. Babu Rajendra Prasad was the president of Constituent assembly.
B. Chairman of Constitutional Drafting Committee was Jawaharlal Nehru.
1) Aonly 5
2) ‘Bonly .
3) AandB
4) None of the given.

@
8

. Identify correct statement ;
1) Constitution determines the between people and
2) Democratic countries generally contain a Constitution.
3) To make a Constitution to a diverse country like india is not an casy task.
4) Allof the given.
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“Minerals do ot belong to any particular person but belong to all people of the country.”
1) Yes. I agree with the above statement,
2) No. I do not agree with the statement.
3) Minerals belong to rich contractors only.
4) Minerals should never be dug out from the earth.

“If excess mining continues, there would be no minerals for future generations:"
1) No. There would not be any scarcity for minerals.

2) Yes. We cannot regenerate minerals.

3) There are sufficient mincrals for future generations

4) We have to give importance to development only. Not to the minerals.

“ Loans taken from Self help groups are helpful to the members.”

1) No. They have to pay more interest.

2) Yes. They get loans for less interest rates.

3) No. They have to show assets and keep them as security for getting Toans
4) They are not much helpful to the needy.

. “Extensive farm mechanisation is leading to displacement of labourers.”

1) Yes. It is correct.

2) No.Itis not correct.

3) But use of machinery led to creation of new jobs.

4) No. Its only an illusion.

“In India we have a situation, where private health care services are increasing but public
services are not.”

1) Yes. Itis correct

2) No. It is not correct. Government provide mobile health services through 104 and

3) People do not need Health care services of government.
4) People getting private health services with free of cost.

. How do you understand the Permanent Settlement introduced by Comwallis to encourage

agriculture ?

1) Cultivators benefitted.

2) Zamindars collected the reventie, the same that was agreed upon through auction.
3) It converted all pedsants into tenants.

4)  Zamindars improved the lands.

The people of delta region of Andhra Pradesh remember Sir Arthur Cotton with great
love and honor.

1) Yes, the dam built by him brought prosperity to that region.

2) No, it was just his duty, people need not show in a special respect to him.

3) He was British, we should not praise him.

4) He was not so special.

E-701/Book-A m
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40, “Gandhi always saw Tndia as a land of all the people who lived in the country = Hindus

Muslims and those of other religions.”

A) Itis not correct. India belong to majority Hindus,

B) 1is corrct, India belong to everyone wh lived in the country:

) Itis not correct, The minorities must rule (his country.

D) Itis correct. All people should five in harmony.

1) AB 2) A

3) B,C 4) B.D

(41-42) Note : Observe below table and answer the questions.

41, The North India state that has highest density of population.
1) Assom 2) Bihar
3) Andhra Pradesh 4) Kerala

42, The North - eastern State which has above 300 density of population
1) Andhra Pradesh 2) Arunachal Pradesh
3) Assom 4) Kerala

43, Artange the following temperatures from the highest o the lovest. 4,-3,0,5,-1
D -3.-1,0,4,5
3) 5,4,0,-1,-3 4 0,4,5-3,-1

44, The temperature at “A” is 35°C and the temperature at “B'" is =2°C. The differenc
temperature between the two places.

1) 33°€C 2 39C
3 e 4) 35°C
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(45-46) Observe the below table and answer the questions.

Details of the temperature in Tirupati

SNo| Day Max. femperature | Min. Temperature]
1_| SUNDAY 37 21
2 | MONDAY 34 20
| 3 | TUESDAY 35 20
4| WEDNESDAY 33 20
5 | THURSDAY 35 21
6 | FRIDAY 33 19
7 | SATURDAY 35 20

45. On which day of the week, was Tirupati is cool ?

1) Tuesday
3) Sunday

S
&

1) Tuesday
3) Sunday

2) Wednesday
4) Friday

. On which day, Tirupati people feel very hot ?

2) Wednesday
4) Friday

Types of Forests

\J
Evergreen Forests

Always green

Jamun, Bamboos
trees

¥
Decidious forests Thomy forests  Littoral and swamp forests

drop leavesin  Thomy trees  The trees adapted to

Dry months. salt waters and the
‘ flow of Tidal wayes.
Vegi, ageisa, uppuponna, bodduponna
maddi trees %

47. Choose correct examples of vegetation in Thomy forests.

1) Canes, Kadam
2) Bandary, Gittegi
3) Balusu, Regu
4) Urada, Kadili

E-701/Book-A
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Note : Today the Eskimo population is not large but it is growing. The details of their
population and distribution through the world are given beloy.

Population

(48-49) Read and analyse the above table and answer the following.

48. Which North America region contains highest Eskimo population 2

1) Siberia 2) Alaska
3) Canada 4) Greenland
49. Where do Eskimos five in Russia ?

1) Siberia 2) Alaska

3) Canada 4) Greenland
SNo. | City/place Sunrise Surset
I | Hyderabad 649 558
2 | Agm 7.09 542
3 | Madhurai 637 6.12
4 | Nagpur 6.53 548
5 | Visakhapatnam 6.29 538
6 Kohima 6.02 4.40

(50-52) Read the table above and choose correct answer for the following questions

50. Which city of the table gets late Sun set ?
1) Madhurai
3) Kohima

51._ Amange below cities/places from South to North from the Equator.
Nagpur, Madhurai, Agra, Hyderabad
1) Madhurai, Agra, Hyderabad, Nagpur
3) Madhurai, Hyderabad, Nagpur, Agra

52. Whichicity gets largest day time,?
1) Kohima
3) Hyderabad

E-701/Book-A
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Nagpur
Agra

2) Madhurai, Nagpur, Agra, Hyderabad
4) Agra, Hyderabad, Nagpur, Madhurai

Madhurai
Visakhapatnam
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53. Find out the true statement :
A. Development of tribal people could not be thought of without giving them any rights
over the forest.
B. The protection of forest was impossible without the active role of tribals.
1) Aonly
2) Bonly
3) BothAand B
4) Neither A nor B

»n
&

- A student received Rs.10,000/-from her grand father as a birthday gift. But she didn’t like
to spend it at that time. She decided to deposit it in the bank for two yeara of time, Which
of the following deposits is beneficial to her ?

1) Savings deposit i
2) Recurring deposit

3) Caution deposit

4) Fixed deposit

5. What is scarce in Eskimos food ?
1) Meat
2) Fat
3) Fish
4) Vegetables

6. Eskimo word Igloo refers to :
1) Dome shaped houses only
2) Snow houses only
3) Brick and stone houses only
4) Any kind of houses

|

- The Eskimos are suffering with new diseases at present. Identify the correct cause for
their problem.

Cold climate

2) The outsiders

3) Uncooked food

4) Low temperaturc

E-701/Book-A ]
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This is the exact reason for the reduction of mobile call rates in present days.

@
*

1) Heavy competition in between service providing companies.
2) Govt. hold its control on Companies.

3) Mobile users are increased tremendously.

4

“To brought mobile services to every individual.

w
8

. Which type of forests are located in low rainfall areas ?
1) Evergreen
2) Deciduous
3) Thomy
4) Swamp

60. Arrange in chronological order.
A) Vandemataram movement
B) Russian revolution
€) Formation of INC
1)_AB.C
2y B,CA
3) CAB
4 ACB

61. The lines shown-on the figure are .
1) Longitudes ;
2) Latitudes

3) Contour lines

4) Isohalines

a
8

‘This conventional symbol represents ....
1) Light house

2) Church

3) Idgah

4) Tomb

E-701/Book-A 12)
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Note : Observe the following soil map and answer the following question.

63. What is the major soil type in AP ?
1) Red soil
2) Black soil
3) Sandy coastal soil
4 Hilly soil

64. Match the following

i) dark green = ) mountains
i) dark blue - b) seas

i) dark grey - <) cropped area
iv) yellow - d) forest

D i-cii-b,iii~aiv-d
2) i-dii-biii-aiv-c
3) i-aii-b,ili—c,iv-d
4) i-bii-aiii~div-c

65. On which side of the world map, Tundra region is located 7
1) Eastern side
2) Western side
3) Northem side
4) Southem side

~701/Book-A [13]
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(66-67) Observe the following map and answer the questions.
=

2
2

. Which districts have more mincral resources ?
Srikakulam, Vijayanagaram

2) Vishakhapatnam, East Godavari

3) Prakasam, Kadapa

4) Anantapuram, Kumool

a

. Which districts have no mineral resources ?
1) Srikakulam, Vijayanagaram
2) Vishakhapatnam, East Godavari
3) Prakasam, Kadapa
4) Anantapuram, Kumool

2
2

. Read the map and identify the names of the cities.
1) Delhi, Chennai
2) Mumbai, Kolkotta
3) Delhi, Mumbai "
4) Chennai, Kolkotta.

69, Which of the following incident is associated with the place located in the map ?

Dandi march

)

Jalianwallah bagh

Chirala Perala movement

4) Quit India movement.
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(70 -73) Observe the below map and answer the questions.

70. Which district got low rainfall ?
1) Srikakulam
2) East Godavari
3) Prakasam
4) Anantapuram

7L, The southern boundary of Andhra Pradesh ....
1) Odisha
2) Telangana
3) Arabian Sea
4) Bay of Bengal

72. Through which districts of Andhra Pradesh, the Krishna river flow ?
1) Kurnool, Prakasam, Guntur, Krishna
2) West Godavari, Krishna, Prakasam, Kumnool
3) Anantapuram, Kurnool, Prakasham, Guntur.
4) Nellore, Prakasam, Guntur, Krishna

73. The father of Cartography was .
2)

3)
4) Gerardus Mercator

#

Which of following place is comfortable to live ?
1) Temperate Zone

2) Tropical Zone

3) Polar Zone

4) Tuiga Zone
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Which of the following is/are correct ?

A) Mining practices result in disturbing the surface area.

B) Mining activities result in polluting the nearby rivers and water resources.
1) Ads correct

2) B is correct

3) Both are correct

4) Both are wrong

76. Which of the following activity where technology is not used ?
1) While singing a song.
2) While cooking idli.
3) While performing drama on the stage.
4) While making of garland for sale.

77. The medical insurance scheme started by government of Andhra Pradesh is ...
1) Arogyasri
2) Arogya mitra
3) Jeevana mitra
4) Al the given

78. Madhu want to do cashless transaction. Which of the following is not useful to her ?
1) Mobile Banking
2) Net Banking
3) Debit Card
4) Two thousand rupee note

79, One important feature of Satyagreha and Civil dis-obedience is ..
1) People revolting with weapons.
2) Paying taxes in right time.
3) People non cooperating with government laws.
4) People wearing foreign clothes.

0. Who condiicts the prosecution on behalf of State in courts ?
1) All the lawyers
2) Public prosecutor
3) Police
4) Al the given
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